
















© Crown Copyright 2017www.ncetm.org.uk/masterypd Autumn 2017 pilot

?

?

?

6

6

https://www.ncetm.org.uk/masterypd


© Crown Copyright 2017www.ncetm.org.uk/masterypd Autumn 2017 pilot

https://www.ncetm.org.uk/masterypd


36 – 3 =

1 2 3

6 – 3 = ?



9 – 4 = ?

9 – 4 = 

1 2 3 4 5

5 Perfect !!



14 – 5 =
567

8

9
2

4

3

1

9

Great Job !!



3 – 3 = 
0

Good Job !!

3 – 3 = 



8 – 3 = ?

8 – 3 = 5
Excellent !

13 2



10 - 6 = ?

10 - 6 = 4 SUPER !

2 156 34



4 – 2 = ?

4 – 2 = 2

1 2

Excellent !!



6 – 3 = ?

36 – 3 =

1 2 3

Well Done!!



9 – 4 = ?

9 – 4 = 5

1

2 3 4 5

Well Done!!



8 – 2 = ?

8 – 2 = 6

1

3 4 5 6

2

Good Job !!



7 – 3 = ?

7 – 3 = 4 Perfect !!

1 2 3 4



5 – 5 = ?

5 – 5 = 0
Good Job !!



This is a subtraction story

5-2=3





ASSIGNMENT

2



GREAT
JOB 

EVERYONE !!


